ERGO PLUS HANDLE

.3 ® MIG/IMAG TORCH WATER COOLED - MODEL MWS50

AW61000001

g_ % SCREW -3 Nos.
- & AW61000081 LOCK RING
v AW61000002

W

BALL JOINT + SPRING
AW61000041

100% DUTY CYCLE
CO,GAS - 500A
MIX GAS - 450A
WIRE SIZE - 1.0,1.2,1.6,2.0,2.4

SWAN NECK
MW50500001 _—
5
Q

é;\
Ng GAS HOSE WATER INLET
4 XXXXXXXX XXXXXXXX

( TORCH KIT - 3mtr. EURO (STD) )@
[TRIGGER SWITCH -MWSOXXX@J

MICRO SWITCH - MWS50XXX030

3 WATER & POWER CABLE
2 XXXRXX CONTROL LEAD
WIRE CONDUIT XXXXXXXX
1 XXXXXXXX

_/

SCREW
'O' RING AW61000082
2%21888855 mtg;gogotézpom END '\SAPAEIlNO(SogsLiPPORT END
6
1 MmMAMAMMANANT
% C 4 I \'\'\\'\'\’\'\’\ \'\'\'\'m

LINER POSITION NUT EURO CONNECTOR EURO NUT - P.
- AW61000076 7 MAG1000066 AW61000061

@ PART NUMBERS ARE FOR 3 METRE LENGTH TORCH d
FOR ANY OTHER LENGTH CORRECT LAST THREE DIGITS.
LAST DIGIT FOR FRACTION OF METRE
FOR EXAMPLE: 4.5 METRE WITH TRIGGER SWITCH - MW50XXX045
5.0 METRE WITH MICRO SWITCH - MWSOXXX@
1a S\
( GAS NOZZLE  |( CONTACT TIP HOLDER] GAS DIFFUSOR |
TAPER AW11517612 | (M10x 1/M6-L25 MW32001625 BROWN Vv MW42005111)
CONICAL AW12517616 | [M10x 1/ M8 -L25 MW32001825| |CERAMIC MW42005121
CYLINDERICAL ~ AW13517620 | [M10x1/M6-L29 MW32001629| (WHITE - GFT MW42005141
SPOT WELDING AW14517620 | (M10x 1/M8 - L29 MW32001829
SWITCH )
( CONTACT TIP &® J[ LINER J TRIGGER MW50001030)
( ECU - STEEL WIRE ) ( INSULATED j MICRO MW50002030)
[DIA8xM6xL28  AW210828XX | (1.5 x 4.5mm BLUE AW51150034)
(DIA 10 x M8 x L30 AW211030XX | |2.0 x 4.5mm RED  AW51200034 [ LINER COLLET J
( CUCRZR-STEEL WIRE ) (2.5x4.5mm YELLOW AW51250034) ( INSULATED / NON INSULATED )
DIA8xM6xL28  AW220828XX | ( NON - INSULATED )|45mmOD BLUE AW59450102
[DIA 10 x M8 x L30 AW221030XX | (2.0 x 4.5mm AW52200034] |4-5mm OD RED  AW59450103
(  ECU-NON FERROUS WIRE ) (2.5 x 4.5mm AW52250034) (4-5mm OD YELLOW AW59450104)
DIA8XM6x 128 AW230828XX | TEFLON ) ( TEFLON )
(DIA 10 x M8 x L30 AW231030XX | (2.0 x 4.0mm RED  AW53200034| |4.0 mm OD AW59400106
(2.7 x 4.7mm YELLOW AW53270034) (4.7 mm OD AW59470107)

® CONTACT TIP SIZE :- REPLACE LAST TWO DIGITS SHOWN ' XX' WITH WIRE SIZE
FOR EXAMPLE: WIRE SIZE 0.8 MM - 08 / 1.2 MM - 12

\_ C:\DWG\MIG\MW50\MW50-CAT.DWG 03/18 )




